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How does he know that she has a K’suboh from betrothal

Overview

X wp T asked from where does *ax know that an 1°017°Ri7 1 737K receives a 72103
at all. MPOIN suggests various sources, and explains why the X713 did not mention
them.

mMooIN anticipates a difficulty:
= (8,71p 97 8IN3 833) NIV 3D PID NINT XNIN LYY 81 XD

And the X713 did not want to resolve that an PP01X:7 2 719X receives a 72102, from

this X392 in nBW 9 99, which states -
- %9)5 DINNN N2 NN NYNN NN DINNDN

‘One who betroths a 779102, she collects two hundred 17 for her 72103, ete.”; proving
that 1°017°R17 11 there is a 72100 —

mooIN responds:
=910 PYITP INNY NNIY DIPN NPT 315D TPI0NIN ROYDY 1Y ANITA 29123 INTH NIINY

For we can also reject this proof by saying that the X072 is in a case where he
wrote a 72102 for her, and the Xn>72 is necessary for the 8950, which states, ‘a
place where it is customary to return the P27°p’°, etc.

oI comments; even though we (seemingly) cannot prove that 772103 7% w° 701X -
- 19 AN5 XY 1PN NN NY W NDIINT NI NN DIPN DI0)

But nevertheless the truth is that an 779198 has a 7203, even if the husband did

not write one for her -
- PHYVTP XY PN XY 2INVTP NN NOD MINTT (0w x,70 91 pwrrp) MMIND P99 NMT

As is evident in 92877 P99, where the Twn states, ‘she said ‘you were w7p» me’,

and he says, ‘I was not wTp» you’ the rule is -
= 1255 N 19 NN 12919 XYM V) INI ONXI 412521973 99 NN

"' In the X3 text it states 77 (instead of 79).
2 The X1ma rejects other proofs in this same manner.
3 In a case where he wrote a 72113 for an 017X, there is no need to inform us that she collects her 712103 (as the X7m3
asks here), therefore we need to say that intent of the Xn»12 was (not teach us the Xw™ [that 2»nXn 721, for that is
obvious] but rather) to teach us the X9°0, which states that in a place where it is customary to return the w17 money
(if she dies before the X1, w"y), we follow the local custom.
4 He may marry her sister (for instance) since he claims that he was not w7 her and there are no witnesses to support her claim.
However she may not marry his relatives (his brother, etc.), for according to her own admission she was w71 to him.
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he is permitted to marry her relatives. Regarding this case 21 said, that if he gave
her a ©3 on his own (even though he claimed ‘I was never wipn you’),”> we force

him and he pays her the 712102 (proving that an 701x receives a 721)) -
- PRV RY 1Y S8 9350 1Y AN INT NY AN XY TH93 Yy onm

And perforce, there he did not write her a 712103, for if he wrote a 71203, how

can he claim ‘I was not w7p» you’ -
= (8,1 97 Mn3) $DYI PID NN 1D PYWITP OTIP NN 2INIY 797 PNRT

Since it is not customary to write a 77121n> before the w17°p. And it is similarly
evident in $79¥1 P92 that an 701X receives a 72103 even when 779 203 &Y.

mooIn responds to the apparent difficulty:’
= SDINIMIND NN 1 DY NIWM 19 IN RN 119 NXON NDIND N¥II 19N INDY

However, here »2X wanted to prove that there is a 1°017°X77 72 7210, only from a
73w or a Xnv912, but not from statements of the 29X7%N.

Mmoo offers an alternate response (to the previous difficulty):’
= 10550999 N1 PYVITT NN YTV 22N RIT POIVNRN )11 NINDNA ¥AP 191 1) N

Or one can also explain that here (»2X in our X713) is asking that an 2 725N

10179857 should not collect from 7n%% 57w, for the heirs can claim Sny=9® (if we do not

follow the ruling of *"9) -
= V) Y0V NANT NN NY NIRRT DY RVIYD POIVPNRA 19 N HAYINna Han

3 This is considered a tacit admission that he was w7pn her.
6 The mawn there (on 2,3n) states that if a father was 078» his daughter and she became divorced or widowed, the father
receives the 72103 payment (as long as she is a 77w1). The X3 there discusses from which time can she collect her
721> from the nIMIP?. Regarding the 72303 17°Y she can collect from the time of oYX (if after the 1P01°R, someone
bought property from the husband it is indentured to her 721n3), and the 712102 NHOIN from the time of "R11. We see
that an 7017& has a 712102 even if he did not write a 72103 for her, for if the 72105 and 72112 MdOIN were written ( NYWH
1°017°K) the 72105 MOIN should also be collected 101k nywn (W'"y).
" In our 813 we could not find proof that there is a 1°017°X71 12 72103 (and therefore »ax had to use a different reason
why he retracted), when here n1o1n offered proof that there is a 1°017°Ri7 11 72102,
8 »ax was out to prove that 13> " is correct in ruling that 2% 92X X% 7"2ayn 0k 1907 (and that is why he discussed
the 1017°K:7 11 71A9R). If there would be proof from a 7wn or RN™12 (that N2 721 POITRT 11 7I2R) we could not
argue with *"; however if there is proof only from an X7y, that does not mean that *" is correct (or incorrect) for
the o°X7mK can argue with each other (but not against a 73wn or Xn™12). [According to this explanation there is no
proof from a 771w or a 8Xn72 that there is a 1°017°X77 12 72105 (even by a 7w173) [as opposed to the following explanation].
? See footnote # 7.
10 According to this explanation (see footnote # 8) we assume that there is a POYR7T 12 72N> (by a 7w1»); however
we are seeking proof that an P01R:7 1 79X can actually receive her 72103 122 PRW 2pna 7203 and the heirs are
not believed to claim 11¥75 (which would support the view of *"9).
! The proofs which maoin cited are in cases (or can be established in cases) where we are discussing a divorcee, where
she certainly receives her 712103, The X3 was seeking proof that an 1°017°R:7 1 739X actually collects her 72102, and
the heirs are not believed to claim 11y75. There is no proof that "3 is correct; indeed there is a 1017’87 11 72102, in a
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However, it was obvious to »aX that by a divorcee even if it is POY1R7T 32 she

collects her 12102 with the vx document!? -
=5 197 RV N22IN 23NN VIN PYNPI 1222 PPNV DIPNA PNIYVIIIN 12 AVINN 1D

Just like by a PRWs17 3% 7w in a place where 72100 P2an> PR; in both these
instances (7"RW°17 11 ORI 0 AWIA) the husband pays the 72102 upon the
presentation of the 03, and 72 tears up the w3, and writes on the back of the v,

‘this w2, etc. was torn, not because it is 9109, only so she should not collect her 72103 again (and

we give her this torn 03, to enable her to remarry).
= ©195 99K RYT 9915 1MHVN 1IN 395 AN 9207 NIPUNI

However in the conclusion of the X*210, where 2R agrees with >''1 that 912 Jwwr

2792 AR XY 7""2v7 INK, then -
$N2IND NY SN POIPNRN 1 NINON 19N

Even an 10179857 32 173°K collects her 572102 (even 1ama [PR]w opna) since no one can
claim °ny"9 (unless they have a 712w).

Summary
We know from the 2°X7 X that there is a 1°017°R77 12 72102 (but not from the o°Xin).

Alternately all agree that there is 1°017°X77 12 72102 by a w17, but we have no proof
that an 71m%X as well can collect.

Thinking it over

According to the 1"X, that there is 7°017°Xi7 12 72102, but we cannot find a case that an
MInYR can collect (1am> PR 0pn2),'* what did the o°man accomplish by giving an
017X a 772n2, if she cannot collect it?!!*

case of divorce, or even in a case where she is widowed and a 712102 was written (or if the heirs agree that she is owed
her 712n3), however as long as we do not find clearly that an 1°071°X 1 712X receives her 7213 against the wishes of
the heirs, we do not have any proof to the ruling of *"1. See ‘Thinking it over’.
12 Even if we disagree with > and maintain Ny is 1K1 even against a 7"2vn, however if the woman shows her 03,
this proves that the 72105 was not paid yet (see shortly in this maoin)
13 See footnotes # 10 & 11.
4 See nwn noAn ,0ovI0 X9 AW 2"
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